
 

1. Complete each part-whole model and write four number 

sentences that match. 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Tens and Ones (2) 

56 

80 

98 

2 



 

2. Match each number to the correct number sentence. 

 

 

  

 

 

 

 

 

 

 

 

 

3. Represent each sentence in a part-whole model and as a 

number sentence to show the total. 

 

 Ben has 12 sweets and Mary-Kate has 5 sweets. 
 

 

 

 

 

 

 

 

 Aisha has 24 stickers and Jane has 31 stickers. 

 

 

 

 

 

 

14 Forty 24 
4 tens and 

1 one 

20 + 4 10 + 4 40 + 0 40 + 1 


